
Nome: 　　　　　　　 Encontro: Data: 　　　　　　 Pontuação: 　　　

Multiplique decimais por potências de dez

4, 858 × 100000 = ________ 7, 389 × 1000000 = ________

4, 633 × 100 = ________ 3, 13 × 10000 = ________

5, 137 × 10 = ________ 6, 501 × 100000 = ________

1, 686 × 10000 = ________ 3, 685 × 100000 = ________

7, 806 × 100000 = ________ 10, 649 × 10 = ________

9, 507 × 10000 = ________ 7, 5 × 10000 = ________

7, 707 × 100000 = ________ 2, 644 × 10000 = ________

10, 787 × 100 = ________ 3, 995 × 1000 = ________

8, 661 × 1000 = ________ 10, 043 × 100000 = ________

7, 108 × 10 = ________ 7, 319 × 1000 = ________
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